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SECOND YEAR HIGHER SECONDARY EXAMINATION, MARCH 2022

Part — III
SOCIOLOGY Time : 2%» Hours
Maximum : 80 Scores Cool-off time : 15 Minutes
(Hearing Impaired)
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General Instructions to Candidates :

\

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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PART -1

A. Answer any 4 questions from 1 to 6. Each carries 1 score. 4x1=4)
1.  Identify the Sociologist who opined that personal problems and public issues are
connected.
(a) Adam Smith (b) C.W.Mills (c) Spencer

2. Name the state of India which has the highest sex-ratio.

(a) Kerala (b) Punjab (c) Haryana

3. refers to the ways in which individuals may become cut off from full

involvement in the wider society.

(a) Social Inequality (b) Socialisation (¢) Social Exclusion
4. is refered to improvement in technology and production processes.
(a) Modernisation (b) Secularisation (c) Westernisation

5. The term footloose labour was coined by

(a) M.N. Srinivas (b) Jan Breman (c) Emile Durkheim

6.  The process by which the Govt is trying to sell its share in several public sector

companies is known as

(a) Disinvestment (b)  Outsourcing (c) Contract work

B. Answer all questions from 7 to 10. Each carries 1 score. 4x1=4)
7. Who introduced the term Scientific Management ?

(a) F.M. Taylor (b) Max Weber (c) Karl Marx
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PART -1

A, 1 m@a8 6 100 ¢alo3yBElad ago®@@lee 4 afINOVIM DOMOOAY) ).
1 capod afloo. (4x1=4)
L. aieml @IReEnglo 0ald®) (IREBEle @oAlE3 MITWMEMEN GRElE WS
LA OUVI(TNEEHAB BIHDIE).
(@)  @owo mylory (b) C.W. al@dav (c) emyadavd

2. AmIHLI aBG TVoTLOIMBIHIE (Y] 01)0}HIMIAI0Mo HS)OLINVS BHIMAMD).

(a) c®HO8o (b)  alemi0eni (¢) ooclom

3. au2peooileng @e!iwoewled alani aliEtilde8e@I AVORdld: AlldVEIBE3EWI
20d] dldamam Glal@osm’

(a)  aLOMlly, @RAVAMIo
(b) avomadleoemo

()  aLOMAL]H NIaOlaHBNBEMo

4. VOB aflzyilens OLJOBM (lBloesSlenmss (@ICOOVNTINO®
qaflaflomyammosm
(a) ®RWMIG QIG3EHOMo
(b)) 2cO®»0 AITBENV6Mo

(¢) aloUIO®mY QIGIANOEMo

5. I®@®e®IFENSEl®HUB af)IM alBo @RBIAIW] GRAIMAla{la]® GRO ?

(@) M.N. gglrilanay (b) =0aBe EnINd (©) agalell B)des6lo

6.  alfl Ha®EARIL] HMIMIBB)ESV)o Ba0@lGHUB WaIeMZ alg¥leanman (lles
al0@)aN Gal@o6m’

(@) 830000l alg¥len®d (b)  al)0oalemle0d (c) ®00ad cx=oeil

B. 7 2)®a3 10 Q190 af)Lld ¢alo3iemBudan)o 2OMO0a9)®d. 1 capod allmo.
(4 x1=4)
7. vl 20EMEHAF af)IM @RYUOo GRAIGAla{la|® GRO ?

(a) F.M. esorid (b) @060V ©QIMIAB ()  ®00m3 MOBBHAV
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10.

11.

12.

13.

14.

15.

16.

Choose an example of an ecological movement from the following :

(a) Chipko movement (b) Telangana movement (c)

Which Article of the Constitution prohibits untouchability ?

(a) Article 14 (b) Article 16 (©)

The census is the largest in the world.

(a) US.A. (b) China (c)
PART - 11

Answer any 3 questions from 11 to 15. Each carries 2 scores.

Explain the term self-reflexivity.

What is infant mortality rate ?

Explain commodification with a suitable example.

Write any two examples of interest groups.

List out two features of social movements.

Answer any 2 questions from 16 to 18. Each carries 2 scores.

Tebhaga movement

Article 17

Indian

(3 x2=6)

2 x2=4)

Write the names of social reformers of South India who worked for the upliftment of

the lower castes.
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8. @oe® @mMIclemmMaiad mlamle aldlaudliell (ITOIMETIM 80) DBIaODEMo

ODOONNS)HND>

(a) aflaie®0 (IaMNomo (b)  O®EIBOIM ITVNOMe (C)  ODMENIY) (AITVOIMo

9.  @O&M CLISMAS BB GBRYASIAHUB (1GHOONEM ODIFB)SIQ MNGOOW]a|@).

(a) @AsIesUd 14 (b) @RASIeNUB 16 (c) @Asleslud 17

10.  ceaomlorl aggall alell HAVMBAVAV nBG CILRYTITIEIR®I

(a) U.S.A. (b) 66a1m (c) epamyad

PART - 11

A 11 )@@8 15 190 23Sl ago®@lene 3 af)aRevIn DEMOOALI®)d:.
2 ¢capod afloeo. (B3x2=06)

1.  au@o (I al®Mo af)M alBo QlVOBRHE:.

12.  u3luo) @6 MBS af)MI@3 ag)aM6M ?

13, @RMEWIRINW B0) DBIOOEM TVall®o AIMVIAIBDHOMo QflUdBAN)>.

14, ©®@3alo TVoCLIGBUBES aRODESIEI0 BNE DBIAODEMo af)PI®)d:.

15, aLo@}n0y (ITLOOMEBBIOS E6NE AVANENHUDHUD alSlhe)a ST D .

B. 16 2)®@3 18 190 ¢a1amnSElal ago@eilens 2 ag)gRovlmn’ 20mOOA9;®)d:.
2 ¢apod afloeo. 2x2=4)

16.  @o¥am ROMNH900)0S DMNAMDHIMCAUME] (ARG, BaMlcaMmyloes moer

VO?DYa0Y aIBlaHBTMOLOBNS Gal® af)P)®D.
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17.

18.

19.

20.

21.

22.

23.

24.

25.

Explain Civil Society.

Write two features of mass media.

PART - 111

Answer any 3 questions from 19 to 23. Each carries 4 scores. B x4=12)

Differentiate between social map and commonsense map.

Prepare short note on

(a) Nuclear family

(b) Dominant caste

List out 4 impacts of industrialization in India during colonial period.

Explain Westernisation.

List out 4 impacts of globalisation on radio broadcasting in India.

Answer any 1 question from 24 and 25. Carries 4 scores. (1x4=4)

Explain the importance of community identity.

Classify the following items into appropriate columns :

[Factory, Computer Software, Internet Based Services, Raw Materials]

Industrial Economy | Weightless / Knowledge Economy
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17.

18.

19.

20.

21.

22.

23.

24.

25.

alMO AVMAO0ODD db)Gla] AflUoElBOlBe ).

MIa0)RM AOWIABBBIOS PNE MVANCUDAUDBHUB ag)OI®)B.

PART - 111
19 2)®@8 23 Q100 €a103yEBElA8 aBo®BlENe 3 ag)IROTIM DOMOOALI®)c>.
4 capod afloo. (B x4=12)

LOMY0Y B)aISONo MVLORIMYGENIOW B)alSONo A3 CAUIRDI G612 I,

6 alOWYINAIO® d)0laf B0) R1°e1) d)0la | ®QO0IHN)D:.
(a) @REM?IS)MIo

(b))  (asnuel RO

CRHOBM  OMBOLIT  MIMIVIOLI  AINITVOV  AITBIHOIMETIOG  Moel
MVPUIMEIBUB alGlH6)a ]SO ).

oJO(@JO@bO_I(ZﬁcBGD(OGﬂ)o OJ’]UOBQOOOGDQ(B).

HAMIleel GOWICWO  (ICBHMIIMOMIT  @RYCEUNOB mwsoeaosmmzsﬂoc@ moerl
TLIWIMEIBUB alSldhea SO,

24 2)®@3 25 Q160 GalodimBSI@3 aBo®sslel)o SB60gIROTIM  DOMOOAH; ).
4 capoad. (1x4=4)

LO2)BROV]D TVDIATOAG (2 10WOM Yo ANlUOBAAS)D.

®I6¥a |0W)AN EHMEBOHS GRM)CWILRNIW CHOBEBEI T3 (HAlHO1H9))H.

[a000l, &HMIRS8 ETVaNgeOOIVA, MMBMWAE aMmQ BRUWIEHOI®  ECILAIMEBUI,
@RAVoMVI® QUTVENU ]

QIO G ALMUB AIYAITLD | @IAVAOI®/ LAMOM ALAUB QIO
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PART -1V

A. Answer any 3 questions from 26 to 29. Each carries 6 scores. B x6=18)

26. List out the features of caste system.

27. Write any three positive and negative impacts of liberalisation policy.

28. Differentiate communalism and secularism.

29. (a) Define Sanskritisation.

(b)  Write any four criticism of Sanskritisation.

B. Answer any 2 questions from 30 to 32. Each carries 6 scores. 2x6=12)

30. Prepare a short note on the transformation in rural society after independence.

31. List out the features of Chipko Movement.

32.  Match the following :

A B
(a) Policy of Liberalisation | Bombay Textile Strike 1982
(b) Dr. Datta Samant Since 1990s
(c) The Mines Act IT Sector
(d) Home based work Employing 10 or more people throughout
the year
(e) Flexi Time Bidis, Agarbattis etc.
(f) Organised Sector 1952
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26.

27.

28.

29.

30.

31.

32.

PART -1V

26 m)@@3 29 Q190 €21034BEIG3 agomerlens 3 af)anamIm DOMOHA ).
6 capod afl®o. (B3x6=18)

20@101JQINOWOS TVATCUHDDHUB alSldhea SO ).

DBOOAIMHNOM MROTIOW aRO@BILNo MAN NNl (aIGIGH)RI0NAIW
aVIPUSIMo ag)P)®).

UL D)o 2DTOCIHUDD)o ®fl@3 CUA BTN 93®)d.

()  TVaVY® QIBENOMo WBQa D).

(b)  AVAPY® AUIBBIHOEMTTIIO aBOD®EBILN0 MILT ANABUOMEBUD af) ).

30 2)®@3 32 190 G2l aBE®BILNe 2 af)INATIM 2OMOHAY®)d>.
6 capod afloeo. 2x6=12)

(PIDAAVAYODTIEZ AV DTIM] CUDAHDNBIW AlBlIAUATMEIBOS *)Glaf 630}
92101 B)Fla | QI .

2 flaic?d (IMDOMETIHE MVANENHUOBOS Bd)Glaf B0} alSld QIO .

G210)0alS] GalBBe)D

A B
(a) 9BIVAIBIANOM Mo 1982 ee1 eenidoeent myeml aill@d aruao
(b) Dr. o avoaam 1990s ) @3
() Al eeamdav @ryd,s 0ag).gl. caalel

(d)  »IBalIBHISINVNIMBHENSS | alCOTNO GRMIG3 GRUWIGHEAD  @RYS)HHUD

@03 QIBatHo MU alel H21QAM).
(e) aNOBY OOSo enflawi al@BmoIa@l m1@2moemo,
@)seoslaoal
() auoceISI® caalel 1952
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PART -V
Answer any 2 questions from 33 to 35. Each carries 8 scores. 2 x8=16)
33. Prepare an essay on Malthusian theory of population growth.
Hints — Arithmetic Progression
— Geometric Progression
— Birth control measures

—  Criticisms

34. Analyse the struggles for women’s equality and rights in India.
Hints — Equality and right
— Role of Social reformers
— Women’s role in National Movement
— Sulthana’s Dream

— Stree Purush Tulana

35. Explain the powers and responsibilities of Panchayats.
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PART -V

33 2®@3 35 190  €a1034BEIG8 agomBIENe 2 afINATIM  2ODMOOAY®)d>.

8 ¢apod afl®eo. 2x8=16)

33.  @maveaup aidevmaleomendlass n0@am AV aUlRLITNOT @)Gla] B0)

DalM{PAVo GIQYI0IHND>.
V)2l —  ALAOADO CYYETTI
—  R2lolo cyyel
- 8MaVoa WIWEMEM D0BUNEBUY

—  alladuvomem3ud

34. a8 AVMeOETIG3 (MIDHB)OS BRAIRHIVEBUIGH ) TVABGITIM]o CAIMEIW)BE

Gald025603U3 QflUddeIMo §1a1Q)d:.

L}l — ALAM|ONo BRAIGHIVIAI.
—  QLOAYO IBlaHBAATNILNBIOS Al
- CBUBl® (a1IMNIMEBSE@3 (HB)0S al®s.
- MV)TBOHOIMWDNS TVIglo

- (Jlano)eu @eim

35.  alemIDQOIMGSINS GRUBRI06BS) DATNOAUIGIGI6IS)0 AludEld@loe)d:.
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